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SCIENCE
BOOKLET A

INSTRUCTIONS TO CANDIDATES

(1) Write your name, class and register number.

(2) Do not furn over this page i you are told to do so.

(3) Follow si instructions cacefully, |

{(4) Answer all questions.

(5) Shade your answers on the Optical Answer Sheet (OAS) provided.
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Bookiet A (28 x 2 marks)

For each gquestion from 1 to 28, four options are given. One of them is the
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical

{58 tharks)

1. Study the classification chart and the three animals, X, Y and Z. .-

Z
body cowering
L.
1 1
have scales . do not have scales
| I i
[ 1
B
have shell no shell
| i
A
Which of the following shows the comact classification of animals jn boxes A and
B? .
A B8
{1) Z Y
@) X ¥
(3 Y Z
“) X Zz
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The diagram below shows insect F.

Whichofmefanowingoomcﬂyrepmenishsedps;ﬁfecvw? "

adult

98

(1)

Pupa

egg

adult

N

3

nymph

aduit

adult

g9

(@)
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3.  The diagrams below show a fiower, human female reproductive system and
human male reproductive system.

X Y
() c A
@) A B
(8 0 ¢
@ D B
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Study the characteristic of fruit Z below.

Key
/\ parentplantof Z
o seodingofZ
—— wing direction

It !l|l
g!li

:
gt

A

|

il 1yl

AN

T

(3)

li]l 1Iil| ilii
T

(4)
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Study the diagram of a plant below.

- part X

What is / are the function(s) of part X?

A To make food for the plant
B To take in water for the plant

C To allow gaseous exchangs between the pant and the sumoundings

(1) Aonly
(2) Bonly
(3) Aand G only
(4) B and C onty

AninaiXiskepthanairﬂghtglassiarmeo hours as shown in
below. -

the diagram

Which of the-following correctly shows the changes in the temperalure of alr and

amuntnfmtarvapourinﬂteglassjaraﬂertwohwrs?

temparature of alr amount of water vapour
() increases decreases
4 increases incroases .
@ | decreases remains the same !
{4) remains the same increases 7
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7. The diagram below shows a human body systern. Arrows, A, B, C, D, E and F,
represent the movement of bibod in parts of the aystem,

»

" In the diagram above, which arrows represent blood rich in oxygen?:

(1) AandBonhf
{2) Dand E only
(3) A, E and F only
(4) B, Cand D only

8.  Xmaoming sst up an experiment as shown below 1o find out how the exposed
swface area of food affects the rate of digestion.

100 mi of digestive juice 50 mi of digestive juice

D

Setup A Setup B Setusp C
{with 50g of meat) {with 50g of meat {with 100g of {with 50g of meat)
cut into cubes) minced meat)

Which two sel-ups shoulkd he use to carry out a fair test?

(1) Aand B
() Aand D
(8) Band C
(4) Band D
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10. -

-+ (4) The cell membrane allows onty ¥ to enter the coll

An animal cell was placed in a liquid containing substances X and Y.

animal—-§;
cell

key

: substance X
' substance Y

Which of the following statements can be conciuded from his observation?

(1) The nucleus aliows only Y to anter the cell.
(2) The cell wall does not allow X to enter the oell
{3) The cytoplasm does not aliow X to enter the cefl.

The diagram below shows the differant stages of gerrination in a

Atwhich stage(s), A, B, C or/ and D, would the plant be able 1o make its own food?

(1) A only

(2) Aand Donly -
(3) B and C only
(4) B and D only
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11.  Study the flow chart below.
Organ

A

Whiohof&lefolowingleuaraamwmcﬁynmnedtoﬂwdmwbodypmts?

tungs heast small intestine | larnge intestine
%) A B c D
2) A B D Cc
(3) B A c D
#) B - A D c
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Beakars, A, B, G and D, are filed with equal amounts of water and placed under
the sun as shown balow.

fish

\

rl

h

==

'gﬁﬁ

) stim g

1!!!!1!!? "ii!l‘t t’i‘!‘:“ ‘:”ﬁl(‘["; l":’c

n

\

\

¢

P gy

™

il

I t
o,
il

\

bRl

TTY
g

-

A ——
Which of tha following sln\vsthe correctamountufnarbon dioxide in each beaker
after six hours?
amount of carbon dioxide amount of carbon dioxide
A .
— — o
A c o A B ¢ b
{2)
amount of carbon dioxide amowt of carbon dioxide
————— ey I
[ [~
4 | ? _—
A c D A 8 C D
23]
10
www.testpapersfree.com

BP-~1175



13.

14,

Mrs Chu prepared four pots of strawberries and put each pot indifferent conditions
as shown in the tabie below.

Conditions setupA | setupB | setupC | setupD |

Type of sol garden garden garden sandy
Amount of solt (g) 1000 500 | 1000 500
Amount of light (unlt) | 5000 5000 18000 18000
Tasts of stawberries | swest | sweet | verysweet |  sour

From the results, Mrs Chu conclutied that the strawbarries would be swester when
the rate of photosynthesis is higher.

Which of the following set-ups did she use o maka har conclusion?

(1) Aand B
(2} AandC

- (3) Band C

(4) CandD

The mimosa plant will fold its leaves when raindrops touch thea Jeaves as shown

what conclusion can be made from the above observation?,

(1) Living things can die.
(2) Living things can reproduce.
{3) Living things nsed air, food and water to stay alive.

{4) Living things can respond to changes around them.

11
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15.  The diagram shows a cord made of material C attached to & bungee jumper.

18.

—Cord

< o

Which property of the material G enables the bungee jumper to |
down? .
(1) elastic
(2) strong
(3) absorbent
(4) waterproof-

nk of water

bounce up and

MUpmplmdmsaHIpswﬂhﬂwmmaamomﬂofmﬁarbmadﬂhm

mpommmmcedmamhamomatzs'cushwnbehw,

set-up A set-up B
Which of the following shows the possible changes in the mass shown
. {
digital balance after 15 mimstes? " on fhe
sebup A set-up B
{1) remains the same remalns the same
(D remains the same increases
{3) increases remain the same
4 decreases increases

12
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17. IWbaﬁmhsarﬁbMamm&dbsﬂupﬂnhurdmﬁhbem.

bulb B
] ]

bubA
it
IJ

o[ 1

bulb C _ 8

bulb D

Which of the twe bulbs have equal brightness?

(1) Aand B
(2) Aand D
{3) Band D
(4) Cand D

13

www.testpapersfree.com



18.

Kumar connecied objects, X, Y and Z, to the circuit below. He obsetved that Bulb
- A remain unlit while Buib B It up when the swilch was closed.

Based on Kumar's observation, mwhichofﬂ\afollowmg nirwitswulanmebulb(s)

—HiIHZ)

light up?

e

i

L]

HH

el

3

14
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19. A torch and three objects, A.Bandc mrearranged;nastmighthnemfromof
a screen as shown in the diagram below.

Whnd'upropermshouldobiwts,A,Bandc have in order to form the shadow

shown on the screen?
aliows moat light to | allows some fight fo daaneta!law!lgm
_pessthrough | | _topassthrough
{1) A c . B
@ C_ B A
- {3} B A . C
{4) B c A
20. Study the set-up shown below. The room temperature is 30°C.
fask P
Which of the following conditions would cause the drop of red Ink to move the
siowest towards flask Q7
temperature of water | temperature of water
flask P is placed in flask Q is placed in
{1) room temperature room temperature
2) 5"C 70°C
(3) 70°C 5°C
1)) 70°C room temperature

15
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21.  Ben has a bicyde, its lamp s connected to a device that can ge electricity
only when the whee! tums. Thus, when Ben paddies, the iamp lights up.
Which of the following shows the correct energy conversion as Ben cycles his
bicycie o light its lamp? ' .
(1)  electrical energy -> kinstic energy > light energy
- (device) (legs) . {lamp)

(2)  kinetic enargy -> kinetic energy - light energy

(ege) {wheel) (lamp)
(3)  kinelic energy -> kinetic energy -> electrical energy - light energy

(legs) '_ (wheel) (device) (jamp) -
(L)) potentiat energy > kinetic energy > potential enargy -> light energy

(tegs) {legs) {device) rop)

22.  Agirion a swing was released from position

A. She then moved to position B, and
then to position C. '

Which of the folowing is correct?

Kinetle energy from A to B Potential energy from B to ¢
(1) increased increased
{2) _ increased decreasad
{3) decreased increased
) cbecreased decreased

16
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24,

Muthu has three metal bars, A, 8 and C. Thearrows betow show how the metal
bars moved when they were brought near each other.

rvitpmememim o rr———

\Y w X
metal bar A metal bar B
Y Z uU- v
metal bar C metal bar A
X w Y 4
metal bar B maetal bar C

Buwmmmwﬁmw.mmwmewha'mlmswcm

metal bar A metal bar B metal bar C
{3} magnet magnet magnet
2] magnet magnetic object maamﬂc object ;
(3) | magnetic object magnet magnet
%) magnetic object non-magnetic object | non-magnetic object

The diagram shows three substances, P, G and R, in three identical containers.

Based on the diagram ebove, which of the following is definitely correct?

(1) Qs a solid and has & fixed volume.

(2) Pisagasand has the largest volume
(3) P and R are solids and have fixed volumes

{4) Ris aliquid and takes the shape of the conteiner. -

7
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A strong magnet is fixed to the base of a ramp. Amodanblockwith
spmgistlmnmleasedabngmemp

Which of the force acted on the block as it moved down the ramp?

A frictional force

B magnetic force

C gravitational force
D efastic spring force

{1) Aand Conly
{2) Band D only
(3) A, B and G only
(4) A,B,Cand D

18
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2.

Benny wanted to find out how much force is needed to move three identical
wooden blocks over the glass surfaces, from Polnl A 16 B. He pulled & spiing
balance in the direction of the arrow as shown below.

wooden block
| spring balance
S
A B A ;
set-up X setup Y set-up Z

WdhmmmmhmdMMbm

" fhe wooden blocks in set-ups, X, Y and Z?

lonst amount of force needad ~— most amount of force needed

{9
@)
&)
()

<P>efxin
»xinf=<] =
Ni=L NI

Baia placed two solid balis, £ and F, on & balancing scale in set-up X. He then put
each ball into two identical beakers, containing the same amount of water in set~

up Y. He ohsarved that the balance tied at one end and the water level In both

bheakars rose o the same height as shown below.

set-up X

What conclusion ¢an be mads from the observations?

(1) E and F are mads of the same material .

(2) £ has a bigger mase and bigger voluma than F.

{3) E and F has different volumes and different masses.
{4) E and F have the same volumes but different masses.

1%
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28. The diagram below shows the path of a ball after it was thrown into the air.

Sy
o

\
C hJ

mammmmmmmdwwmmmmm

tho baf &t points A, B and C?

amount of gravitationa force {unif)
&

+positions
¢

B

(1

amount of gravitational force {unit)
b .

»positions
A B ¢
3
EndofBouﬁe!A
20
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For qmﬁans 29 to 41, wrile your answirs-cldarly in this booklet.

The nymber of marks avaﬂable is shoWiVinBiackets [ 1 at the end of sach question

otpadquuﬂm. (44 manks)

2. Yunus cared out an experiment by pulting two similar Aand B, in

soparate, identical bags at room temperature. The diagram shows the
condition of the ruffins after 8 week.

nuffin
a) Basad orvthe results ahove, what is the purpose of the experiment? 3]
b) Stats the process that has taken place in this sxperiment, [1)

t) What would be the likely result of Yunus' experiment if both muffins had been

placad in a freezer for a week? Explain why.,

]
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30. Rui Yee had three similstsized containers made of different materials, C, D
and E. She filled the conlainers with equal amounis of water and left them in a
room for five days. The diagram below shows the amount of water left in the
containers after § days.

e a2 P o o e 1}

IR
o]
------------
S — Tp———.
............ i e m e
prenmmvnnmay - presasasrrmd
P - ELE R 2 3 1 Ll o
container made contniner made container made of

of material C_ of material D materiel E

Based on her results, which material ia the best conductor of heat?-
Explain why. B
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31. The diagranibelow shows the cross-section of a flower.

&) Based on the diagram above, siste process K.

b) Describe the process that takee place in part G afler process K7

¢) What happens to part G after the process stated in (b)?

www.testpapersfree.com
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32, a) State two propeities of matter.

Property 1.

Property 2:

b) I the diagram below, a Hille gir is playing her violin on stige.

Basedon ﬁa-dlugram above, put a () under the correct heading 1o.i

if they are ‘matter’ or ‘noh-matter”.

Matter

Non-Matter

girt

violin

music

light ray

shadow

spofiight

www.testpapersfree.com
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33. Lucian made a model of the human respiratory system as shownbelow.

opening
of sfraw ™™—___

bottie

balloon __ |

pat P ]

l pull

a) Which part of the mode! above represents the following body parts? {11

i kng:

balloon
. inflated -

i. rbcage:

b} As seen in the diagram above, the balloons inflate when Lucian
down. Explain why.

pulis Part P
{1
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‘The diagriitn below shows air entering the human respiratory system fireugh
the nosé dhd traveliing through the nasal cavily.

¢) Give a reason how the hairs shown above will benefit a human respiratory
system, ' . L H

d) Lmumanakmﬁm.wanwmwmmm
ls wagmer: than the air he breathes in. i}
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234. A farmer removed the food-sarrying tubes of a plant, at positions; |

at the time %vhen frult P> and Q appeased.-Bofh fruit wese of the same-size.

The diagram below shows what the famer observed after three weeks.

a) Explain why huit Q grew bigger than frut P,

R, Said T,

(2]

b) The farmer then made a desper cut at position ¥, removing the

tubes. She thserved that all the leaves of the plant started to wilt after so
time. Suggest a reason for this observation. {1
Score
8 3
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35. Study the flowchart below.

a) Based on the flowchart above, Ml the bianks with the letiers, J, K L or M, in the

talste bélow, , [l
| Type of coll_ Lotier
Onjon
Human Chesk
b) Based on the flowchait above, which celks) above cannot reproduce?
Explain why. 1
g Score
2
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38. The diagrém helow shows the life cycle of animal A, which-spleads distase R
fo humana when it is in s adult slage.

Lava -

-

Egg

o

~

Pupa

e

Adult

Amaamhmkaptsomaniml&atdﬁemﬁhmperammammm
We cycles. The results are shaown.in the table below.

Duration of each stage at different
mrroundlng mwrm (dwt)
22°C occ
Egg 15 10 8. ,3
Larva 6 & 8 6
Pupa ] 8 8 )
Adult 8 12 14 17

a) Based on the results above, which stage(s) of the life cycle of animal A is/ are
not affectéd by the changes in the surrounding temperature? 13

b) The resoalcher kept some freshly laid eggs of animsl A In a container in her
room, Animal A was a larva on Day 15.

Based on tha maulis, swapmbbtemmmdﬂaeroom. 1

c) Based on the rasults above, suggest a reason why diseass R spreads thé most
quickly when the surrounding temperature is at 34°C. [}

10 Score
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%7, Kim wanted to investigate‘the magnetic strength of four bars, W, x vand Z.
The bars weth.made of different materials.

swiich batteries

Themwaﬁﬁﬁykonnakhﬂntmatmemtdtbemﬁmm WI!enthe
ewitch was closed, ﬂ\enum«ufmnahﬂmﬂummmdedmﬂwetable

below.

Bar__|_Number of ron nalis-left in the tray
] - 30 ‘

X 38

Y 32

z 25

a) Based on the table above, which bar was the strongest electromagnet?
Expiajn your answer, K}

b) Suggest two variables she needed o koep constant foi the experiment.  {2]

¢) Kim repeated the experiment with the saie sef-up but using another bar, A
She observed that there were fifty iron nalls in the tray when the switch was
closed. Based on this observation, what can you conclude about bar A7 [1]

1+ Score
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38 Thomas condicted an experiment using the set-up helow. He
coing, one at a time, into the pail. The pail started to move

the 20 coin was added.

"2} Identify the force that caused the metal block to move.

80.cent
rds wnen

[1

b} When oil was applied onto the table's surface, fewer coins were requitred 1o

move the metal block? Explain why.

i

12

Score
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Thomas conducled another experiment with four metal blocks, F, G, H and J.
" His results are shown in the fable below.

Araa of contact 5. R Mass of Number of coins

Metal | withthetable @  the block needed to move
F 16 150 40
G 49 70 20
H 49 150 40
J 16 50 15

Thomas concludes that the area of contact with the table will not affect the_

number of coins that fatrnrthe-pak.

is needed to move the block

¢} Based on the table above, which two metal blocks did he use to arrive at this
conclusion. Explain your answer. _ X 2

3] Thomas took three reading for each metal block. How does doing this affect his
results? 1

I

Score /

13 <3
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38. Sarah set up the following experiment to investigate how the calour of ight
atiects e rate of photosynthesia of & water plaiit.

forch

She countdd the number of bubbles produced in one mirits-for each colour. _

Colour of lighi Number of bubbles

produced in ona minute _
red 28
- green _ 5

a) ‘Besides counting the number of bubbles, what could Sarah jmeasure to
conclude how the colour of the light affecls the rate of photosynthesis? [11

b} Without adding of removing any tems fo the set-up, what can (Sarah do to
increase the rate of photgsynthesis when using the red light? [1]

14 Score
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Saabmmhasu*ﬂhﬂm&mnnshnmbdmm

c) Bmuﬂoﬁhemmﬁm&huiwnﬁuumnhhbm#wrd%midwddﬂnchxna
msmmwnunphﬂsmmhmuﬁmyamgmwﬂnnwm? -
Expiain your answef. _

d)Enﬂdnhmnﬂw:ﬁmMInﬂmsadadummdmntmwsacmﬂmumsuumwé;
water lo survive.

Score
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40. Faridah hung ball A with a string above a bell, as shown below. When the string
was cut, the ball dropped and hit the bell below it. she measured|the loudness

of the sound with the microphone and a data logger.

She ihen rapeatadmeamenmentwdhbaﬂs ofdifferentmasaas. B, C and D,

and using different lengths of siring.
Her results are shown in the table below.

Ball | Mass of balt (g) | Length of string (cm) Loudmsound
A 100 10 50
200 10 80

. 300 10 50
D 300 5 20

16
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a) Fﬂlhmeboxesbaimtbshawthemmmnhnwhmsﬁngmmt

for ball A« i1]
-’ ' —'> +
. energy of the energy in the energy energy
hung ball fafing bail | . bali A touches the befl

b) What can Faridah conclude about the relationship between the loudness of the
soaund produced by the bell and the mass of the ball? M

¢) Based on the results, ball D made the loudest sound. Explain why. 2]

Score {]

17 :
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41. When a car with mass above 1700 kg drives onto a sense pad, ity would
flow through a device, D, which would lift the barrier up o alltw Yhe| carto drive
on.

a) Explain how the car, when maving over the sense pad. will cause the barrier to
swing up. ‘ [

Score

18
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b) Suggest a change to the above set-up so thal the barrier can be Jifted up even
for a carwith a mass of 1500 k9.

¢) ‘Explain how your suggestion in (b) would work. i1
End of Bookiet B
Score
18 2
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ANSWER KEY
YEAR 1 2021
LEVEL PRIMARY 6
SCHOOL TAO NAN

SUBIJECT : SCIENCE
TERM :  PRELIMINARY

BOOKLET A
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Q26 1 Q27 |4 Q28 |3 '
BOOKLETB
Q29 a} To find out if the amount of water affects mould growth.
b} Decomposition '
c) if both muffins had been placed in a freezer for a week, mould not
grow on the moist muffins as warmth is needed for mr;uld to grow.
Q30 | Material D. It has the least amount of water as it evaporates the fastest.
Q31 a) Pollination
b) The male reproductive cell will fuses with the female reproductive
cell. ’
c) G will become a fruit.
Q32 a) Property 1: Matter has mass
Property 2: Matter has volume
b)
Matter Non-Matter
Girl v
Violin v
Music v
Light ray v
Shadow v
Spotlight v
Q33 -a} i lung:Ballon
ii. ribcage : Bottle
!
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.

Air from the surrounding enters the straw and rushes in to occupy
space in the bottle,

The hairs at the air passage prevents dirt to pass through.

The air breathed in gained heat from the body.

Q34

The part in-between position sand T had more leaves to make food
for fruit Q, while fruit P has only a few leaves to help make food as
it could not be transported above or below the cuts S and T.

Water cannot be transported to the leaves.

Q35

b}

Onion: L

Human cheek : K

Cell J. It does not have genetic information and cannot control all
activities in the cell.

Q36

“a)

b)
c)

Larva and pupa
26°
It has the longest adult stage.

Q37

a)
b)

Bar Z. The number of iron nails attracted is the most.
1. The number of batteries.
2. The number of coils around the bar.

¢) Bar A is a non-magnetic material.

Q38

a)
b)

c)

d)

Gravitational force, _

Th'elée was !‘esse:.friction between the table and the metal block so
l‘ﬂ‘f-_Tn v.Bt"-‘l .

less gravitation force is needed to move the block.

F and H. They have different areas of contact with the table but the

mass of the block is the same and the same number of coins was

needed to move the block. ,

This ensures that the results are reliable.

Q39

a)
b}
c)
d)

Measure the hight of the water in the test tube.

Increase the brightness of the torch.

Red light. As the number of bubbles produces the most.

Water vapour from the soil comes into contact with the cooler inner
glass, condense to form water droplets, which full back the soil.

Q40

a)
b)

Gravitational potential — kinetic — heat + sound

The larger the mass of the ball, the louder the sbuniq produced by
the bell.

Ball D has more gravitational potential energy which was converted
to more kinetic energy.

Q41

b)
<)

When the car is on the sense pad, the weight of the car compress
the spring. The contacts touch each other forming a close circuit
causing electricity to flow through the circuit. )
Make the contacts closer to each other. [Allow the spri™g te
Less weight will be needed to compress the spring to the same
length. ' '

be low

2
D
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